
Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 1st Week, 5th Day Syllabus: Unit # 1, Ecological pyramid.

Q.No.1 Encircle the correct answer from the following choices. (0.5<<<<6====3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. At the base of the pyramid are: 0000****]]]],,,,ZZZZççççÅÅÅÅããããCCCCŠŠŠŠ6666,,,,÷÷÷÷::::
(a) Producers 6,ze-ui (b) Herbivores CÙ!zzgi

(c) Primary carnivores 6,ZÎ~»gãzzgi (d) Omnivores Zz*zzg

ii. The eclogical pyramid of upper level consist of:

ZZZZrrrrßßßßŠŠŠŠ0000****]]]],,,,ZZZZçççç»»»»!!!!****ÑÑÑÑððððCCCCwwww''''''''6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX
(a) Primary consumers 6,ZÎ~+-%i (b) Secondary consumers ²g~+-%i
(c) Tertiary consumers R,Ñ~+-%i (d) All of these tÓx

iii. The ecological pyramids are usually based on: ¬¬¬¬xxxxîîîîgggg6666,,,,ZZZZrrrrßßßßŠŠŠŠ0000****]]]],,,,ZZZZççççiiiiZZZZ®®®®gggg™™™™DDDD÷÷÷÷::::
(a) Weight of organisms Y0+ZgzVÆziy6, (b) Number of organisms Y0+ZgzVÅ®ZŠ6,

(c) Quality of organisms Y0+ZgzVÅÃy6, (d) Both a & b   ŠzâV b Zzg  a

iv. Both number and weight of organisms_____from base to top of pyramid.

0000****]]]],,,,ZZZZççççÆÆÆÆnnnnÐÐÐÐZZZZzzzz6666,,,,YYYY0000++++ZZZZggggzzzzVVVVÅÅÅÅ®®®®ZZZZŠŠŠŠZZZZzzzzggggzzzziiiiyyyyŠŠŠŠzzzzââââVVVV''''''''ƒƒƒƒDDDD÷÷÷÷XXXX
(a) Decrease Á (b) Increase ic*Š{ (c) Same Zq-‰ (d) None Ãð7
v. Usually primary consumers are: ¬¬¬¬xxxxîîîîgggg6666,,,,6666,,,,ZZZZÎÎÎÎ~~~~++++----%%%%iiiiƒƒƒƒDDDD÷÷÷÷::::
(a) Herbivores CÙ!zzgi (b) Decomposers e~ìigi

(c) Producers 6,ze-ui (d) Predators 6,i+ñi
vi. The carnivores are ____ of the weight of herbivores.

»»»»ggggããããzzzzzzzzggggiiiiƒƒƒƒDDDD÷÷÷÷XXXX _____ CCCCÙÙÙÙ!!!!zzzzzzzzggggiiiiÆÆÆÆzzzziiiiyyyy»»»»
(a) 1/5 (b) 1/10 (c) 1/100 (d) 1/1000

Q.No.2. Write short answers. (2<<<<2====4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i) What is tropic level? R,Z’CwHì?
(ii) How can we explain the decrease in number or weight in ecological pyramid?

ëZrßŠ0*],Zç~®ZŠZzgziy~¶ÅzŸs#ù™Mh÷?
Q.No.3. Write long answer. (3) ----����ZZZZ[[[[KKKKXXXX

(i) Write a note on ecological pyramid. ZrßŠ0*],Zç6,Zq-âK̂X
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